
Appliance part#

Date 20-06-2012 Revision version 

Revision

Revision #

First bill of materials (BOM)

Place the drawing here !

Drawing

  Hendi B.V.

  Steenoven 21

  3911 TX  Rhenen

  The Netherlands

Batch #

0000000 207406
Description

Deep Fryer Mastercook 4L+8L

Page 1 van 4

www.fo
od

-s
er

vic
e.

co
m

.u
a



Date 20-06-2012

Revision

Item Description Part# Quantity Remark Picture

1 Frame complete n/a 1

2 Buffers 207185 4

3 Fryer bassin 4L 207161 1

4 Fryer bassin 8L 207079 1

5 Bracket 207154 4 2 pcs M4x5 included

6 Fryer basket 8L 643617 1

7 Fryer basket 4L 207161 1

8 Back cover nss 1 Available as 207215

9 Fryer head complete assembly 207215 1 Item incl 8;10;11;12;13;14;15;16;17;

18;19;20;21;22;23;24;25;26;27;28;29

10 Thermostat 190°C EGO 205228 1 Also in 207178 and 207215

11 Knob thermostat 205235 1 Also in 207178 and 207215

12 Indicator light yellow 201145 1 Also in 207178 and 207215

13 Microswitch 16A/250V 207093 1 Also in 207178 and 207215

14 Pull relief PA107 920107 1 Also in 207178 and 207215

15 Hi-limiter 230°C EGO 929001 1 Also in 207178 and 207215

16 Element 3250W 230V 207048 1 Also in 207178 and 207215

17 Bracket 207154 1 2 pcs M4x5 included

18 Sheet-metal screw 4.2x9.5 nss 6 Available as 207178  and 207215

19 Washer13.5x20 nss 2 Available as 207178  and 207215

20 Nut 1/4" nss 2 Available as 207178  and 207215

21 Powercord 207017 1 Also in 207178 and 207215

22 Leaf sping SS 207314 6 Also in 207178 and 207215

23 Sheet-metal screw 3,5 x 13 nss 2 Available as 207178  and 207215

24 Washer M5 nss 4 Available as 207178  and 207215

25 Nut M5 nss 2 Available as 207178  and 207215

26 Self adhesive mounting plate nss 2 Available as 207178  and 207215

27 Tie rip nss 3 Available as 207178  and 207215

28 Switch 205426 2 Also in 207178 and 207215

29 Screw M4x5 nss 4 Available as 207178  and 207215

30 Ring Hi-limiter nss 1 Available as 207178  and 207215

31 Bedienpaneel achterzijde nss 1 Available as 207178

32 Fryer head complete assembly 207178 1 Incl item 19;20;21;23;24;25;26;27;28;

29;30;31;33;34;35;36;37;38;39;40;41

33 Thermostat 190°C EGO 205228 1 Also in 207178 and 207215

34 Knob thermostat 205235 1 Also in 207178 and 207215

35 Indicator light yellow 201145 1 Also in 207178 and 207215

36 Microswitch 16A/250V 207093 1 Also in 207178 and 207215

37 Hi-limiter 230°C EGO 929001 1 Also in 207178 and 207215

38 Element 2500W 230V 207086 1 Also in 207178 and 207215

39 Bracket 207154 1 Also in 207178 and 207215

40 Sheet-metal screw 4.2x9.5 nss 4 Available as 207178  and 207215

41 Leaf spring SS 207314 6 Also in 207178 and 207215

42 Lid 8L 207062 1 Incl item 44;45

43 Lid 4L 207055 1 Incl item 44;45

44 Knob for lid 207024 2 Incl item 45

45 Screw M6x10 elvz nss 2 Available as 207024

46 Screw M4x5 nss 8 Available as 207154

n/a ->  not available nss ->  not sold separately

207406
Description

Deep Fryer Mastercook 4L+8L

Revision # Revision version 

First bill of materials (BOM)

Bill of materials (BOM)

  Hendi B.V.

  Steenoven 21

  3911 TX  Rhenen

  The Netherlands

Batch # Appliance part#

0000000

Page 2 van 4

www.fo
od

-s
er

vic
e.

co
m

.u
a



Appliance part#

Date 20-06-2012 Revision version 

Revision

Revision #

First bill of materials (BOM)

Place the circuit diagram here !

Circuit diagram

  Hendi B.V.

  Steenoven 21

  3911 TX  Rhenen

  The Netherlands

Batch #

0000000 207406
Description

Deep Fryer Mastercook 4L+8L

Page 3 van 4

www.fo
od

-s
er

vic
e.

co
m

.u
a



Appliance part#

Date 20-06-2012 Revision version 

Revision

Revision #

First bill of materials (BOM)

Place the wiring diagram here !

Wiring diagram

  Hendi B.V.

  Steenoven 21

  3911 TX  Rhenen

  The Netherlands

Batch #

0000000 207406
Description

Deep Fryer Mastercook 4L+8L

Page 4 van 4

www.fo
od

-s
er

vic
e.

co
m

.u
a


